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#include <iostream>
#include <cstdlib>
#include <math.h>
using namespace std;

int main() {
int N; cout << " N =7 "; cin >> N;

double random, sum=0.0;

for(int i=0; i<N; i++){
random = (double) rand() / (double) RAND_MAX;
sum = sum + sin(-log(random)) ;

3

cout << " I_N = " << sum/N << endl;
return O;
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forallsites(x){
for(int mu=0;mu<4;mu++){

mdp_matrix trial=mylattice.random(x).SU(Nc);

OO00O0// metropolis test

0000 if (exp(minus_delta_action(beta_d_Nc,trial,x,mu,u))
0O000O>= mylattice.random(x) .plain()){

0000 u(x,mu)=trial;}

O3}
+
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No. 13: Beta=1.00
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